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This booklet is your Question Paper. 00 NOT break seal of
Booldet until the invigilator instructs to do so.

Fill your Farm Mo, in the space provided on the top of this page.
The Answer Sheet & provided to you separately which i a
machine readable Optical Response Sheet (ORS). You have to
mark your answers in the ORS by darkening bubble, as per
your answer choice, by using black & blue ball point pen.
Total Questions to be Atternpted B0 Part-l ; 30 Questions
& Part-ll : 30 Questions.

After breaking the Question Paper seal, check the following :

Part- contain total 30 questions of 10 (Math & Mortad Ability |
Part-1 eoetss 1oka 30 questions which are Physics, Chemistny,
Biology
Marking Scheme :
a. I darkensd bubble is RIGHT answer : 4 Marks.
b. If no bubble is darkened In any question: No Mark.
¢ Wdarkened bubble is WRONG answer:
=1 Mark [Minus One Mark).
Think wisely before darkening bubble as there is negative
marking for wrong answer,
Iffwﬂhundimqhedlntheﬁuwdlmﬂﬂlnﬁm'!
then your ORS will be cancelled.
Do net put any stain on ORS and hand it over back properly
to the invigilator,
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PART-1 MATHEMATICS & 1Q,

(Maximum Marks : 120)
(ferwram s :1201)

* This seclion containg 30 quesbons
. Each question has FOUR options (A}, (B), (C) and (D). ONLY ONE of these fuurg;gnn omch
«  Foreachquestion, darken the bubble comesponding to the correct option in the
. Marking scheme :
+4 I only the bubble corresponding to the comrect option is darkened
0 If none of the bubble is darkened
-1 In all other cases
. TR wWE Y 30 uwea £
s wET mE i Aw R (A), (B), (C)men (D) & 1 7 R et 4 @ dua on Rwen 78 8
. v we #, W P ® s gagd w) o 3R 0a A w6
. T T
+4 f2 forw W s & awe gEga ® e R
0 af% = % gEgs e = fewm 6
-1 3=y it Rerfirg) 4
1 The mean of n numbers x,, X3, X;....., X, is M, If x, is replaced by x’ than, the new mean is :
NETH Xy, X3, Xy peevrnsenns X 1 e M) of x, W k' F aftvanim o Bm o oo A g
(A) M= %, + ¥ (B) ——["'1]::"”' ) Xt ':‘ = (D) —"'_’: 2
Directions {3, 2 fo 3.):
Study the given infermation and answer the question that following.
[ P.Q,R, ST, UandV are sitting in a row facing East.
(i) Risonthe immediate right of 5.
(iii) Qis at an extreme end and has T as his nelghbour.
™) Visbebween T and U,
i) S is sitting third from the ssuth end.
frdn Q.2 #3.):
et ma Prfelt 1 s o oW TR v @ e Afma—
M PQRST U Ve dfs § qf foen o v 45 wvet 82 8
%) R 5% grmarft afw &
(#) QwE fy o &, o P el TR
M VT uE o 48
i) Szl R | d o mm ow R
2. Whois sitting to the right of T 7
T v dm g 7
(AP BV iC15 oyu
3 Which of the following pairs of poopla are sitting at the oxtreme ends 7
mftedi % = w9 o o s R cedm k9
(AP (B)PS (c)ar {oyus
_4. in triangle if each side of triangle is halfed then what is the % change in its aroa.
(A) 75% increase (B) 5% decroase . (C)25% increase {D) 25% decrease
aft faveht Porgm @1 T st wh o wv B e o e @ dawa A afteds g :
(A) 75% 3fE (B) 75% weh (C)25% qfY (D) 25% =t -
|EFALE PO Bim iy

£
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5. LetA:(B+C)=6:TandB:(A+C)=8:9.Ifasum of Rs. 221 Is divided among A, B, C, then the shares
of A, B, C {in Rs.) respectively will be :
T A:(B+C)=6:TIAB:(A+C)=8:98 | 7R 221wl W A BYCH ma dler W # A, BUC

1 (W d) 5 wE B
(A) 102, 104, 15 (B) 100, 106, 15 {C) 104, 100, 17 (D) 80, 100, 41

6. Some oil is filled in a right circular cylindrical vessel. The radius of the base of the vesselis & cm. Some
iron balls, each of diameter 3 cm, are completely dipped into the oil, If lovel of oil in the vessel rises by 2 em,
the number of iron balls dipped into tho oll is
et &= gR YW @ AR ¥ UF v § g dF v g £ | wm @ o W aZemn 6 W 8
390w Tl e A o) e d| A oft eve g i &) ol oo A de o e 2@ ww T
Bl o . A gun T e o i) o wwm enh ?

(A) B {B) 16 (C)a2 (D)4

7. I the altitudes of a triangle are in the ratio 2 : 3 : 4, then the lengths of the corresponding sides are in the
ratio :

ﬁﬁﬁwimmmm::ardﬂmMWWﬁmﬁmﬁmM—
(AY2:3:4 (B)6:4 :3 (C)3:2:4 D)3:2:1

A bag contains Rs. 225 in the format coins of 1 Rupee, 50 paise and 25 paise in the ratioof 3 : 4 : 5.
B. The number of 25 paise coins ane —

v G 4 225w, # Rt 195, 50§ 7 2569 & Rveet w1 orom 3040 58, wh a4 4 25 &% & Rres B
(A) 108 (B) 144 {C) 180 (D) 225

g, How many numbers lying between 1 to 500 which are exactly divisible by 13.

19 500 % == 139 qofa: wivm frwh seod erfl-
(A)40 (B) 38 (C)46 (D)47

If 391 is divided into three parts proportional to %:%; 3, then the first part is :

10, T mmmmﬁ#mmmm%;g:a#mnﬂmmm:

(A) 150 (B) 160 (C) 180 (D) None of these T4 % miga =

Directions (| 1112 }:
Read the following information and answer the questions based on it :
In a schoal, there were five leachers. A and B were teaching Hindi and English C and B were teaching
English and Geography. D and A were leaching Mathematics and Hindi. E and B were teaching History and
French.

frdm ( 192 ):
=1 gena w vewe ww v smnfn v 3 o Afa—-
e frorea % dhe s &1 Anen B, i s ol we1 v 4, Coen B, arieh sl s T AR 4 D
A, Tifem it fesht oz vk 6| E v B, wfEra ol e wr vk @y

n. Who among the teachers was teaching maximum number of subjects 7
eyl d o wed wfew fiwg g ve w7

(A}A (B)B {cic /]

12 Which of the following pairs was teaching both Geegraphy and Hindi 7
(A)Aand B (B} B and C (C)C and A (D) None of these
et & 5 ol g, s wen (e w w6 7
(A)ATENE (B) B awl C (C)C nrir A (D) w14 % W
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13.

4.

16.

18.

In @ row at a bus stop. A is Tth from the left and B is 9th from the right. They both Intarchange their positions.
Now A becomes 11th from the left. How many people are there in the row 7
mﬁnﬂwmﬂhwmﬁﬂ%mﬂumﬂmmnhﬁtrﬂ#mﬁhﬂﬁﬂﬂﬁmmmﬁ
rea A M AT FEE aE @ e B oo R wme § mitvd o ma e wm o)

(A) 18 (B) 19 (C)20 (D) 21

There are six houses in a raw, Mr, Lal has Mr. Bhasin and Mr. Sachdova as neighbours, Mr. Bhatia has Mr.
Gupta and Mr. Sharma as neighbours. Mr. Gupta's house ks not next to Mr. Bhasin or Mr. Sacheva and Mr.
Sharma does not live next fo M. Sachdeva. Whao are Mr. Bhasin's next-door neighbours.

(A) Mr. Lal & Mr. Gupta (B) Mr. Lal & Mr, Sachdeva

(C)Mr. Lal & Mr, Sharma (D) Mr. Sharma & Mr. Gupta

v o d oom ) B A # Rl ol T wwdn v &) fonfzm @ fgen e v wend R

B w ue L weim o R oweda # mw 7 & am B wel, M oweRa ® o ol vsA B o

wErA e 7
(a) . &re e B T (B) & =@ mun A, Wiy
(c)fx = o fi o (D) e worf eren By, e

Aswiss watch is being shown in a museum which has a very peculiar property. It gains as much in the day as
it Inses during night between B pm 1o 8 am. In a week how many times will the clock show the comect time ?

w e ) U sy & v # | frew 7o i e # 1 T B o 6 d aeh & e o o
wm # BT BEE @ Wi 8 T e H wa ) wongd 7E vw wonE § feeeh aw W wm welifa w0

(A) € times{TT) (B) 14 limes{=7) (C) 7 times{Tr) (D) 8 times{wT7)

K212 34=1 471258 =2, thenwhatwillba the value of 6 T2 »4=7
zf2t254=1 4128 =2 miEmmaEm 672 24=7
(A) 8 (B)10 cye (D)12

In a Class Vidhya ranks 7 from the top, Divya is 7 ranks ahead of Medha and 3 ranks behind Vidhya
Sushma wha is 4™ from the bottom, is 32 ranks behind Medha. How many students are there in the class?
v w1 & en v © wr v § | R A T amh o R @ 3w 9 g ) e = S A
& o v e & @ 32w 49 &) A sowd e A Bl v 2

(A)S2 (B) 4% {C)50 (D) None of these (%TE T8

Two wires 15 cm and 25 em In length are to be cut into smaller pieces of equal length. What can be
maximum length of each smaller plece 7 _

=1 o ferd o e 15 9 A 25 9 £, w1 T wwng © ot vt A o o & o B wm
o i @ BT -

(A)B (B)4 (C)5 (D)8

Mean of salary of 10 employees is Rs. S000. If salary of employees

Re. 6000, Rs. v, Rs. 7000, Rs, 8000, Rs, 3800, Rs, 2200 anuprlzT ﬂun;';f; :nr:?l?:;ﬂﬂ: |: {00, oL E000,
T\ wowivEt @ dn @ A 5000 . # 1 oft el W A 3000 w 4000 % Mﬁ.ﬁam

Rs. 7000 %, B0D0 %, 3800 %, 2200%. 3% 8000 %. ¥1 Y x o1 w1t & - ' i ki

(A) 2000 (8) 3000 (C)4000 (D) 5000

(BFALE PCA BLoM woRsy
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20. If radii of two cones are in the ratio 3 : 1 and heights are in the ratio 1:3, then the ratio of their volumes is:
afe & wiga o Pl w aqam 3: 1 & ok Sardal 4 1.3 sequm £, A 9 smwel w1 e gm-
(A)3: 1 (B)2:1 (C}1:3 (D)1:2

The coordinates of the point which lies on y - axis al a dislance of 4 unils in negative direction of y-axis is:

21

g Ay-mA s Rmidgd gl wd, @ Fdwiw &

(A) (0, 4) (B) (4, 0) (C) (0, -4} (D} (-4,0)
22, How many zeroes are there in the productof 1 x 2x 3x 4, 49 x50

1%2x3x4,..49 x50 % orwa § A w (0) g1 |
(A)7 (B)8 (C)10 (D) None of these (%15 7#1)

3. You are given the five numbers p, q.r, s, . If the average of p and tis 7, and if the average of q. rand s is 12,
whal is the average of all five number 7
S W p,q,r s t9w HEY @ #) Al patw sl 7w, own aft g ras @ atEw 12 8L W T ot
e w e B -
(A)5 (B)98.5 {C)10 (D) 19

24, Adice has numbers, 1,2, 3, 4, 5and & on its faces. Four positions of the dice are shown below. The number
en the face opposite to the face with number B is
T W for ol v 1, 2,3, 4, Sorn 6 ofw § | WY ot 9w farfer mwid o ) sEm 6T wew

% i e o= e wom onh ?

25- Ifa+b=12,ab=17 then the value of (4 + a) (4 + b} is -
Fika+b=12 ab=17 1, (4 + a) (4 + b) T 77 M-
(A)61 (B) 64 ()81 (D) 74

26.  Give two similar triangles one of which has twice the perimeter of the other, Find the ratio of their areas 7
=1 TR P & wom g ot g @ < & o o dees = e B
(A)2 (B)4 {C) J2 (D)242
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27.

28.

30.

Three positions of the same dice are given below. Observe the figures carefully and tell which number will
beome in place of 7

4 v A o ) A R ol o &) g v w amdlen o g aagd f peaes fre e w
FIH A M 7

|
5 2|}

(i (i) il
(A1 (B)3 (C)2 (D)6

A farmer divides his herd of x cows among his 4 son's such that first son gots one-half of the herd, the second
son gets one fourth, the third son gets one-fifth and the fourth son gets 7 cows, then the value of xis

T o S x T @ WE W A aR TE A wew dtem & R e ga @ s w e e G
7% ® ve—durd wre 8, g 73 w1 diem A w8 e e g3 7 A e, oo ) Fem ek
(A) 100 (B) 140 (C) 180 (D) 180

The probability of getting a number greater than 2 by throwing a fair dice is :
TF Iy O T g T 29 afs et 9 mitem B
(A) 273 (B8)1/3 (C)1 (D) 35

If the zaro of the polynomial f(x) = k! = 17x + k + 2 where k > 0, are reciprocal of each other, then the value
of kis :

of2 TETE f(x) = K2 = 17x + k+ 2761 k> 08, @ ¥[=% (% g ¥ =ora 8, & k o1 7 Erm—
(A)2 (8)=1 (C)-2 (D)1

Fek il RO PTG “ﬁ
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PART-1I ( Physics,Chemistry,Biology)

[Maximum Marks : 120)
(wfirmem afw : 120)

This sociion contains 30  quoshons
Each quastion has FOUR oplions (A), (B}, (C) and (D). DNLY ONE of thosa four option [s correct

For aach question, darken tha bulbble comosponding to the commect option In tha ORS
Masking schome |
+4 If only the bubble corresponding 1o the correct aplion i darkened
0 i mone of the bubblo ls darkenoed
<1 In all other cases

guwmad 30 wmd

wrm A e fawe (A), (B), (C)men (D) # 1 7 W e # @ dww w e i
T gy A, Wt feen f ey gagd w) o s e men e

Fw ghan -

+4 uf fore ) fierm o e e W) e fem o)

0 =ft =i +h gEgen e = e e

=1 s ol fefieat &

3.

3%

A force of 20 N acts on l;iﬂdj'll'ld the body moves through 1 m at an angle of 45° lo the
direction of force . The wark done by the force is
TE TR W 20 T OF A W IE 7E 1 frm F45°0 v w1 e e on®t &) v e B e i

10 10
(A) 10424 ® 7 (C)=1042 4 o=
In an atem, M shell can occupy maximum of —
(A) 2 electrons {B) 8 electrons {C) 18 electrons {D) 32 olectrons
fareh woam # M-w o sftreoy faee geeEt o e & 7
(A) 2 gamg (B) & gaaeT (C) 18 gATE (D) 32 saacta
For an element with alomic number 19, the 18™ eleciron will cecupy —
(A) L - Shall (8) M - Shell (C) N - Shail (D) K - Shell
v ora frEe aeae] w198, # 19 of ety wo wdm
(A) L -2 & (B) M - w7 (CYN -=m & (D) K - w9

In the given circuit, the squivalent resistance bobween points A and B will be ;
fed v uftum 4, An B frgal @ wea ge wRWw B -

m}%n (B)4R ({C)BR (D) 10R

An institule uses 20 tubelights of B0W each, 15 fans of 40V each and 2 table lamps of 100V aach for

§ hours a day. How many units of electricity are used In the month of April 7
(A} 250 KWh (B) 300 kWh (Cl200kWh . (D) 1000 kWh

o e § 80 wre of) 20 TyweTdE, 40 WTE o 15 9 wen 100 e @ ¥ Euw v ot 5w ward omd £

wiw = & frh gfe frgm = g -
(A) 250 forpirare ¥z (B) 300 Mz Wz (C)200 ez m (D) 1000 fvsire be

PR PLA RO R
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36.

37

38.

39,

A bar magnel is moved betwean bwo coaxial coils A and B, as shown in figure. The end planes of two coils

facing the magnet due to induction will bahave :
ﬁwwwmgwmwmﬁnmﬁi Aﬂﬂﬂﬂmﬂmﬁﬁ!tqq}mﬁmﬂmmmnﬂﬁgwﬁﬂgu

iftm €1 |

Mdmﬁlﬂ

i ]
(&) North pole in both the coils A and B
(8] South pole in both the colls Aand B
(C} North pole in coil A and South pole in coil B
(D) South pole in coil A and North pole in coil B
(A) AT B T st | el ya
(B)AT B = poafest & sRm g
(C)ATTES # weedt g wen B e ¥ =l @9
(D) AToee & =i ga aw B greeh § wwd v

An proton is moving with velocity 10%m/s in a magnetic field of 5 tesla. The maximum force on proton is :

(A) 8 x 107N (B)10°N (C) 1.6 x 10-"*N (D) 5= 10*N
TE SEUE S TwA ® gy &% 4 100 & A @ a8 | SR T sl 1§
(A) B x 10~ =g (B) 10* =T (C)1.6= 10" =gza (D) 5= 10" =7

The speed of light in vacuum s 3 = 10® mis. If the refractive Index of a liquid is 4/3, then the speed of light
ir Niguald 1

(A) 3 = 10" mis (B} 4 =10°m/s (C)4.33 = 10P mis (D) 2.25 = 10° mis
ﬁu"ru#mﬂtﬂmsxiu‘ﬂﬁrtlﬂfﬁnmaﬂ#ﬁHMﬁﬁrnﬂmmmﬂﬁr:

(A) 3 = 10 E R, (B) 4 = 10043 (C)433= 1084 (D)225= 100 HR

The difference between ions and atoms is of -

(A) relative size (B) configuration (C) presence of charge (D) All of thesa
yroa o o] # e & O -
(A) TR T (B) frmure (C) amim W wufif (D)= W

WA B MDA Wy
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40.

41.

43,

An automobile moving of a speed of 72 kmh i brought fo
rest m 2 seconds by applcation of brakes. How much
distance does the avtomobile covers in these 2 seconds 7
72 kvh W i A v gf e o e w28 9
TEd it s i g A gh k-
{A) 25 m (B)20 m

{C)1am (D) 10 m

It the kinetic energy of a body s increased by 100 %, ther

the change in mementumn of the body is -
it et w1 it o 100 % T 6 o o

wim # vitm oftmdw wm -

(A 4.17 % (B141.7%
{C)141.7%  (D)none of these (7 & o =)

Elecirons revohe in some definite circuler orbils around
the nucleus without emission of enengy, This statemant
was given by :

[A) Rutherford (B) Bahi

(C) Thomson (D) Somerfield

T e @ w4 Bften ved 4 v T
t fi w Pt o T fier e ?

{4) v By

{C) St (D) TrfEs

Which of the following statements is not comeet 7

[(A) A compound is a pure substance.

(B} A compound is homoganeous n ralure.

{C) A compound always conlains two or more elements.
(D} A compound can be separsted into its constituent
elements by some physical process

Frerfifam & ﬁﬂmmm'rﬁt?

(a) difre o g weed £

(B) it wf 4w w £

(C) difie & & m = ¥ afirs v B £

(o) dfim = T wem o dfen ARt g g

farm wn W 2

Which of the following control the balance of
hurminn body 7

(A) Cerebnum (13} Cerebellurm

{C) Oplic lobes (D) Spinal cord

fe= A # W vl & wegem @ oe Prifia
we & 7
(AT
(C) aftfem arfdmd

() e
(D) Trirerm Ev%

ar.

48.

The inensity of a magnetic field is defined as the force
experienced by o

(A} standard compass  (B) unit positive charge

() undt negative charge (D) unit north pole

Ll PR R R S p——

T gro afhmitn of omd & -

() e (B) gwrd Wi
{C) gord mrmim (D) zomd T qm
Anhydride of sulphuric acid s

TEGHT e W e s T -

(A) 503 (B) S04

(c) HSOZ (D) S0*

Compound (Q) on heating gives carbon dicudde, water and
soda ash. (Q) reacts with HCI and gives ;

e (Q) ™ T W e smwmwrs, of o wm
ww o 1 Q) HOi S v sffiem oy o oo A —
(A) NaCl + COq + H0  (B) NaCl + COy + CH,
(C)COz + HO+ CHy (D) NaCl+ HyO + CHy

Cidation is a process which involves :
(A) Addition of cooygen

(B) Removal of hydrogen

(C) Loss of elecirons

(D) ANl are comect

aiferfrem wg wem & ol -

{a) sltefrory o wdm Erm

(B) ErgETom = firdm W B
{C) gevagt = w ¥ren &
(D) wft o W £

49, Graphite is used :
(A} as a lubricant (B)in pencil lead
(C) purification of water (D) (A) & (B) both
ioEs o yEmE o wm i ?
(A Eew & w9 (B) &= A |
(c)wrh & gl & (D) (A) = (B) B

50. Which of the following is the most reactive halogen 7

= 8 & o T v nfRfemiE e g 7

(A)F (Bl
{C) Br o)1

TLFALE BLR FEARE P
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Ei ] !
51, mFmad:ﬁfEﬁpcﬁnﬂlt{ﬁguthﬂan],tlm 51, derd @ v # (g fir), e g

the wrong statement EQ
e

Galvanometer {A) THT = ure T 9. e H ey
(A) On increasing the speed of mogent, wam
deflection in galvanomeler increases (B) geaw o T B feun Ferea W, fierey
(B) On reversing the direction of motion of # farg Iee omm £
magnet, deflection in galvanometer gets (C) o ¥ iR o e g1 99, ST "2
reversed ¢
(C) On increasing the number of tums in coil, 5 e 0 TR T
current decreases. (D) g iceafnthl
(D)) Om keeping the magnet fixed, but moving v fedenfer # g R &< 8

the coil, galvanometer registers a current.

5. In the network of resistors shown in the 52 dam A A meifio s o 8 AT 'I
adjoining figure, the equivalent resistance

(A) 340) (B) 180
(C) 3602 (D) 902 (C) 3602
3
53, Inwhich case work is not done . frs fewftr & o =18t e oy 2

f{g:ng#wminnpm:;ﬂ (A) T e % fraht v Tl

awindmill lifting water awell m}?ﬁﬁﬁﬂmﬂaﬁmﬂrwm
(C) a standing man holding a suit case in his C) sy
hand ;T:ﬁ T e e et o o

(D) a sail boat moving in the direction of mind (D) =2 o fawm ¥ ity T Ty

[y
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s4.  The formula of silver phosphate is 54,

55.

57.

(A)AgPO,

(B)Ag,PO
(©)Ag,(PO), ety

(D) Ag,PO,

Milk does not provide 55.

{A) Vitanuns Aand D

(B) Minerals like phosphorus and caleium
(C) Iron

(D) Carbohydrates, proteins and fats.

Pusa Lerma is an improved variety of 56.
(A) Rice (B) Maize

(C) Soyabean (D) Wheat.

Excessive exposure of humans to U.V. rays 57,
results in

(i) damage to immune system

(i1) damage to lungs

(111) skin cancer

(1v) peptic ulcers

(A) (1) and (i1) (B) (i) and (iv)

(C) (i) and (111) (D) (iii) and (iv)

58.

The decomposers in an ecosysiem
(A) convert inorganic material, to simpler forms

{B}mnvﬁnrgmﬁcmﬂ:ﬁalmmmpniufmm
(C) convert inorganic materials into organic

compounds
(D) do not breakdown organic compounds.

Ren o mi @ ¢
(A)AgPO,
(C) Ag,(PO,),

(B)Ag,PO,
(D) Ag,PO,

o ¥ w7t g @

(A)frmfim A oo D

(B) @i 971 wierrg mn dfamm
(C) MmO

(D) TEfeEea, WeFe e T

w1 w1 (Pusa Lerma) frerdft s=m frm €
(A) Tmaet (B) 5wt
(C) W (D),

ULV, fisoil & weit o8 ot e & @@
e 87

(i) witreer o= o aft

(ii) st = &

(i) T @

(iv) oftew Feaw

(A (i) T (ia) (B) (ii) T (1v)

(C) (1) e (i) (D) (i) T (1v)
g o7 4 suues o o §

(A) e ot o1 9va w9 ¥ Foaha
T
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59.  Which oneisa micronutrient 59. fre=y A @ @ U g @ 7
(A} Iron (B) Caleium ; (A) ST (B) #fewrmm
(C)Magnesium (ID) Potassium (C) Arffram (D) drefmam

60. Which of the following is not an endocrine 60,  fiy=1 # @ @ arvwrdt nfe =7t & ?

gland? (A) FT=TTa (B) wag
(A) Pancreas (B) Liver (C) #vErm (D) arigs
(C) Ovary (D) Thyroid
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